
 

 

Answer on Question #47125 – Math – Calculus  

Question: 

Find the maximum and minimum values of function f(x) equal to sin x+cos 2x in 

(0, 2pi) 

Solution: 

Points, where derivative is 0, are found from the following equation: 

𝑓′(𝑥) = cos 𝑥 − sin 2𝑥 = 0 

cos 𝑥 − 2 sin 𝑥 cos 𝑥 = 0 

cos 𝑥 (1 − 2 sin 𝑥) = 0 

cos 𝑥 = 0 𝑜𝑟 1 − 2 sin 𝑥 = 0 

1)  The first case: 

cos 𝑥 = 0 

𝑥1 =
𝜋

2
,
3𝜋

2
 

𝑓 (
𝜋

2
) = 0 

𝑓 (
3𝜋

2
) = −2 

 

2) The second case: 

1 − 2 sin 𝑥 = 0 

sin 𝑥 =
1

2
 

𝑥2 =
𝜋

6
,
5𝜋

6
 

𝑓 (
𝜋

6
) =

1

2
+

√3

2
 

𝑓 (
5𝜋

6
) =

1

2
+

√3

2
 

Therefore maximum value in (0,2𝜋) is   
1

2
+

√3

2
, minimum value in (0,2𝜋) is  −2. 
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